Ready-to-progress assessment 


Complete the calculations.






1. Circle the numbers that add together to give a total of 0.14.

0.04              0.12                 0.1                    0.2

3.  Fill in the missing numbers.

			
					
			
 	  	   

1. I have 3.7kg of modelling clay. If we use 2kg, how much will be left? 
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3. I will use 0.65 litres of milk for one recipe, and 0.23 litres of milk for another. How much milk will I use altogether? 



[image: Shape, rectangle  Description automatically generated]


4. Ilaria jumped 3.19m in a long jump competition. Emma jumped 3.12m. How much further did Ilaria jump than Emma? 
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5. Maya cycled 7.3km to get to her friend’s house, and then cycled a further 0.6km to the park. How far did Maya cycle altogether?




[image: Shape, rectangle  Description automatically generated]


5/Unit 1/RTP 5NPV–2/ncetm.org.uk 2021

image4.wmf
0.420700

++=


image5.wmf
3.87 0.8

-=


image6.wmf
25.14–0.04

=


image7.wmf
19.7–9

=


image8.wmf
99.99 90

-=


image9.wmf
84.5150

=+


image10.wmf
 0.35.61

+=


image11.wmf
 95.75–0.5

=


image12.wmf
 6.1450.04

=++


image13.wmf
 21.430.05

++=


image14.png




image1.wmf
40.070.2

++=


image2.wmf
0.40.0270

++=


image3.wmf
200.074

++=


